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O ®/IISE A= Nd d3HEZ3HH

T = Hist | giEbE | A4Y | YYE | 7T | XA | AEMA ESF| g A
2019 40 20% 46 23% 6 42 66 - 200
2020 55 30% 56 31% 7 35 29 - 182
2021 25 18% 31 22% 6 46 32 1 141
2022.6. 19 30% 19 30% 2 9 13 2 64
+ A 139 24% 152 26% 21 132 140 3 587

) SESSXUYH Xl 8d K BdSE A2 @9

= ZHT 25 HET =97
= 23,654 40,498 33,928 43,791
7H 18,923 32,398 27,143 35,033
10| 4,731 8,100 6,786 8,758

% KX Moi4 2

TE 2HT 357 HET =R
= 118,271 202,489 169,642 218,955

S E R 44
-1|1 = AR MG X20% X 80%
DYl = AN NS X 20% X 20%
w 2020 AABE MEAMHOl0 MEH MEA HFE MU 20%7t St SES
7|21 Y2, HIE2 7H(80%), LYO0[(20%) =2 T AHE



